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OF eI 2 27,946
SWIECY= 37,6003 * 2 » 230 17,296
oxsad 37,600 * 2 *x 46 3,460
SR PNES= 37,6008 * 29 x {1 828
o Al2t2I=& 56,400 * 2% x 52 x 10 5,640
ocNZ MIEE BES
27,224 ,000& * 2.65% 722
201 2et2FH| 166,440 167,040 A 600
01 AtR2t2| | 31,940 37,040 A5,100
GEEIER=1 29, 140
cUoam oME U ELES A
1,000& * 2,000 2,000
CANREE 50,000& = 128 600
oz )Y 24 M= 2!
5,000& * 105 * 103 500
opZE & 2B 15,000& = 35 » 12& 540
CHMSIET2 8 HAH
10,0008 * 500 5,000
CBMSE AMK Y HTE ME
12,000& * 50058 6,000
o MstE WA M & 10,000& * 1005 1,000
oM HM 0= 50,000& * 5H x 23] 500
oANOIHEME S HEI=x
1,000,000& = 10& &t 10,000
=8 22 AEH 5=
2,000,000& * 14 2,000
oJ|Et=&HI 1,000,000& * 14 1,000
o2g=sg 2,800
oA FHFAMLE 70,000 * 15 x 23| 2,100
oz g AMAIEE 70,0008 x 5Y x 23] 700
02 =24l 9,800 9,200 600
O3322 2 HA 2,000
oMIZEHMSIE T AIE 23S 3|
2,000,000& = 13 2,000




s (e @
) - _ MuE o
MR (ZIH) - NIRAY - BE=Z Ol &+ 9K @Egj HwsZ
S| 7,800
& MH SN2t
400,0002 * 122 4,800
sts 2HOIN 2K 244l
250,0008 * 122 3,000
124,700 120,800 3,900
2 sty =X &0 10,700
SE40t U ULBARY 100,008 * 20F 2,000
oN&TY Uxiz 1,000,008 * 18l 1,000
SHMEZZOY 2AtE
50,0002 * BAI2F » 32 * 3% 2,700
cgRRA &3 3,000,0002 * 13 3,000
c22R02 HE 2,000 * 1,008 2,000
ONDILt 2 ¢4 29 8,000
oBMsts SYX YIS
4,000,008 * 13 4,000
cHSHITIIB YR L AA HAB
2,000,0008 * 23] 4,000
OWMstzs {22 BH0IY 30,000,0002 * 13| 30,000
O=E 22 T2y 2%
0,0002! * 102 * 403 12,000
OROIbe Busts T2
30,0002 * 1023 * 308 9,000
ORVEMsts WIEKT 7,000,002 * 14 7,000
ORIt SA 0108 2,500,0008 * 43] 10,000
OMI2HRS X 38,000
SOl2E &3 B0IZ 4,000,002 * 13| 4,000
SEOPIS B2WA 2,000,008 * 15)H4 30,000
CHOISHRSIA ST
4,000,008 * 14! 4,000
301 YR A 3,800 4,200 A400
10 SAFAIHI 24 2 3,800 4,200 A400
OWMsts 02 BH0IZ BARE SAHI
7,0002 * 241 * 100% 1,400
OBMIS NABSI NFEA
60,0008 * 22 * 10% 1,200
OFIBMStE =X LA Ot
100,000 * 42 * 3% 1,200
36,942 36,942 0
= 36,942 36,942 0
HRSXRAR 6,942,008 * 14 6,942
4~ T2 2PN 30,000,0008 * 14 30,000
M S K20l & 30,000 52,800 22,800
CH & CH 3 AL 30,000 52,800 122,800
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AR DIEA 2 SN BASSEAFAY

Yo BASISHN PE(DS/BY - NYDS)

Sl BMSISTA 245 EERED
Al =] H ol (S = AH IvE ==} OH I‘—-IL'E—“:— =2}t
A= 2533 SR(3A) - NRAY - BES Off &F K Ol AF o8 Hwns2

OZMISHEZ A0iss2 2% Q2|
30,000,0008 * 14! 30,000
405 THaHE S| 17,000 3,000 14,000
01 &L SZF S| 7,000 3,000 14,000
OMH 2O 05 7Y 3,500,008 * 2J 7,000
OFZHOIZAl S R 5,000,008 * 20H 10,000
BYSSTASSEE 2SS 6,600 6,000 600
202 01t 6,600 6,000 600
01 2LHO! bl 6,600 6,000 600
OBMSISTAl HDILE B A
200,0008! * 3% * 43| 2,400
OWTTMBISEAl et Y 24
200,000 * 29 53] 2,000
OX= ZMSISER &It 300,002 * 62 1,800
OBMsts 319 &4 10,0008 * 43l 400
DTN BHS U RHTAIL(SFUBE/250E 3,207,954 2,426,312 801,642
)
=2 133,500
s 177,000
< 200,000
Al 2,717,454
NEEAZ 2323 3,164,021 2,353,536 810,485
2 133,500
= 177,000
= 200,000
Al 2,653,521
NEENB S 1,737,101 1,439,641 297,460
= 177,000
Al 1,560,101
101 1244 530,962 568,272 A37,310
04 JI2H2ENS S 530,962 568,272 £37,310
ONY =8 K24 27,946
ollzg 37,6008 * 2% 230 17,296
oxE Y 37,6002 * 28 * 462 3,460
oI Rt g 37,6002 * 22 * 112 828
oAte &Y 56,4008 * 2% x 52 « (0% 5,640
cNE MR 23
27,224,000% * 2.65% 722
OANE Of2l0l KtZal 27,946
Pl 37,6008 * 2% 230 7,296
oFEY 37,6008 * 2% 462 3,460
QR+ g 37,6008 * 2% * 112 828
SAZeI &Y 56,4002 * 22 x 52 « 10 5,640
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©OJIBFARE &

D 2ERE N2 B

— =2 o
CANEEAZ 2

S EY NS AR - BaS 01l &k o S
0f 4 o
olE =
27,224 ,000& * 2.65% 722
OANE &EXEE 27,946
=JlE2s 37,6003 * 2F = 230 17,296
oFF 37,600 » 2H * 46 3,460
oIt Y 37,600 » 2 » 11 828
o A2HR == 56,4003 » 2% » 52 » 10& 5,640
SPE= =
27,224,000& * 2.65% 722
OANE 2tei= 13,973
=Jl=22 37,600& * 19H * 230 8,648
oxFsd 37,6003 * 198 * 46 1,730
o ARt 37,600& » 18 » 11 414
o A2tel=E 6,400& * 1H = 58 » 10 2,820
B AMUNEE RES
13,612,000& * 2.65% 361
O&E M DB 41,917
=Jl=3 37,6003 * 3F » 230 25,944
oFF 37,6003 * 3H * 46¥ 5,189
o A Xt 37,6004 * 3% » 11« 1,241
o AlI2t2 56,4003 » 3% » 52 » 10& 8,460
cng ==
40,834,000& * 2.65% 1,083
o= &8 13,973
PR 37,600& * 1989 * 230 8,648
oxFd 37,600& » 18 = 46 1,730
ocHI+Y 37,600 » 1H = 11 414
o A2t 6,400& » 1€ » 5& » 10& 2,820
cIEMUHEE RE=
13,612,000& = 2.65% 361
O2=2 oeol Hz4d 13,973
=Jl=22 37,6003 * 19H * 230 8,648
oFsd 37,6003 « 1 * 46 1,730
cHXtY 37,6003 * 1989 » 11 414
o AlIZ2tRl=%  56,400% x 1 = 52 = 108 2,820
cEBAMUNEE REZ
13,612,000& * 2.65% 361
O dAEEs 27,946
=JI=Zg 37,6003  2F = 230 17,296
oxFd 37,600 » 2H x 46 3,460
cHXtY 37,6004 = 24 » 11 828
o A 2HR == 56,4003 » 2% » 52 » 10& 5,640
o= A ==
27,224,000& * 2.65% 722
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¢ JIEFARR A A BAsSsAIFAH

BTN E4s L REHEATH (2L HE/250s)
2

— =2 o
CANEEAZ 2325

S BB BB - NEAY - BAS O &b o e
O2=2 otijdA3a 41,917
oJlZ23 37,600 * 3 x 230 25,944
oxgsY 37,6003 * 3H x 46 5,189
ocHXH 37,600 * 3H » 11 1,241
SYNFAES=y 56,400& * 3 x 52 x 10& 8,460
ocNZ NMIMEE BES
40,834,000& * 2.65% 1,083
OS2 13,973
ocJllEga 37,600 * 1€ » 230 8,648
oxsad 37,6008 * 1H x 46 1,730
oA XE 37,600 * 1¥ = 11 414
o A2t 56,4003 * 14 » 5& » 10& 2,820
ocNE YMIMEE EE2
13,612,000& * 2.65% 361
OZ5tA 22 27,946
oJl2a 37,6002 * 28 * 230& 17,296
oFgH 37,600 * 2 *x 46 3,460
o\ XIE 37,600 * 2 » 11 828
o A2t =&  56,400& * 2¥ x 5 x {10E 5,640
ocNZ NMIEE BES
27,224 ,000& * 2.65% 722
Odd Bz M 41,917
ocllezs 37,600 * 3 x 230 25,944
oFxsad 37,600& * 3H x 46 5,189
oY 37,600 * 3H » 11 1,241
o A2t 56,4003 + 3 x 5 x 10& 8,460
cDg. MNMEH 2L
40,834,000& * 2.65% 1,083
O2g &2 41,917
SR r= 37,600& * 3¥ » 230 25,944
oxsad 37,6003 * 3Y x 46 5,189
o AHXE 37,600 * 3Y x 11 1,241
o A2+l =& 56,400& * 3 x 52 x 10& 8,460
ocNE RMINEE FEE2
40,834,000& * 2.65% 1,083
O23 &2 M2 41,917
oJlE23 37,600 * 3H x 230 25,944
oxFgH 37,6003 * 3H *» 46 5,189
ocAHXEH 37,600 * 3H » 11 1,241
SYNFA ES=y 56,400& * 3 x 52 x 10& 8,460
ocNZ2 MIMEE BE2
40,834,000& * 2.65% 1,083
Oddt 2T A2t 41,917
ollEgza 37,600 * 3¥ x 230 25,944
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¢ JIEFARR A A BAsSsAIFAH

D ZDTAHB BHE Y SHCAIL (2L /25 02)
CNYEANE 2225 (e @e
x = - HEC
2.RN I S(EH) - NRAY - BAS 0 & 24 o HRE2
oFEHY 37,6008 * 3% * 462 5,189
xRS 37,6002 * 3% * 112 1,241
SAIRQI &G 56,4008 * 3% x 52 « 108 8,460
cNE ATRE 223
40,834,008 * 2.65% 1,083
O2% g0l XecA 27,946
P 37,6002 * 2% + 2302 17,296
oFELY 37,6002 * 2% « 462 3,460
oo RtAg 37,6002 * 2% « 112 828
SA2HQI%Y 56,4008 * 2% « 52 « 102 5,640
cNE ATRE 223
27,224,000% * 2.65% 722
ONLYANE Zezhe 13,973
oll23 37,6002 * 1% + 2302 8,648
oFELY 37,6002 * 1% * 462 1,730
o4 g 37,6002 * 1% + 112 414
SAIRQI &S 56,4008 * 1Y * 52 « 0B 2,820
cNB MR 223
13,612,0008! * 2.65% 361
Odtzet H2TA 13,073
oJl23 37,6002 * 1% « 2302 8,648
oFEaY 37,6002 * 1% + 462 1,730
oo RIS 37,6008 * 1% + 112 414
SIS &G 56,4008 * 19 * 52 « 108 2,820
cNE ATRE 223
13,612,0009 * 2.65% 361
ootz Hec N 13,973
Pl 37,6002 * 1% « 2302 8,648
S 37,6002 * 1% + 462 1,730
oo RtAT 37,6002 * 1% « 112 414
SAIRQI$EY 56,4008 * 1Y * 52 « 0B 2,820
oINS MRE 223
13,612,0002! * 2.65% 361
OOt HEZNB 13,973
oll23 37,600 * 1% + 2302 8,648
S 37,6002 * 1% * 462 1,730
xRS 37,6002 * 1% « 112 414
SAIQI &G 56,4008 * 1Y * 52 « 0B 2,820
cNB . MEE 223
13,612,00094 * 2.65% 361
201 YLpt2 b 257,139 285,969 128,830
01 AFR 2 2lt] 161,139 172,689 A11,550
OYst+2H| 126,571
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¢ JIEFARR A A BAsSsAIFAH

D BBCAS 245 L SAZATLE (2L /2 0=)
CANEEAZ 2325 (etel: =3
SN EE - SR(EN) - MR - BAS 01 &t o8 e HlRE2
o AR EEH| 500,0002! * 122 6,000
cME Y 2HS(1204)
1,800,000& * 12& 21,600
oL Az AAX HZE 1,000& = 2,000% 2,000
cEMZ EE2E MA 10,0003 * 4004 4,000
ocbMEe AR 12,000,000& = 43| 48,000
oL MOlE 3RS 1,300& * 5,00004 6,500
oktza el ~2BF 450,000& * 12& 5,400
oZ M marc HY === 1,500& * 3,000 4,500
oMItEEA2el ABF  700,000& » 128 8,400
ocElH ¥ =SAXN 7L 500,000& = 123 6,000
o HHEHl ==&l 2,171,000& = 14 2,171
oM2EAME JlEt=EHI
100,000& = 100HA » 128 12,000
O 23 E A=< 18,400
o A2 A ZA=E
50,000& = 10F = 243| 12,000
ogtsr o HHJIEZ  50,000& * 8% 163 6,400
OEM2t Ex= 2,000,000& = 22| 4,000
OzAa 28 82 & &=
3,300,000& * 23l 6,600
o=yl 1,200
oAM= 0] LI=H] 20,000& * 60 1,200
O=&l 4,368
ocolEess Ay
7,0008 * 2% x 62 * 52= 4,368
02 2324l 55,200 63,480 AN8,280
0Z222 ¥ HA 10,800
oL N2Ez RE= 300,000& = 2002 600
oXNSTNZ B B2
150,000& * 4042 600
oQHUAIZRE 800,000& = 123 9,600
OAl & &HI =Xl 44,400
o M&elEZ=28 KXYl 600,000& * 5& 3,000
o M& SHOIX RXl2tel
350,000& =« 128 4,200
oMAEM2 FRl2el 800,000& = 123 9,600
oM A SXlZal 900,000& = 12& 10,800
©oRFID &Hl /X2 =4I 900,000& = 12& 10,800
o MERSMHIA 0IE&  500,0008 = 128 6,000
03 A2 & 40,800 49,800 29,000
O&EAR =X & 23 7,000
ocEE=E oM 1,000& * 2,000% 2,000
cl=E2AAE 100,000& = 2% * 153] 3,000
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A2 J|ErATYS SN MBS TAIFAE
g :‘—I‘—CA-I_ 245 Y AL (L2 /25H0=)
Sol: AREAZ 282st (crel @2
MR- FH-E(BN) - R - BaS 01 &t o8 Bl HlRE2
0 & 24
olfz+d 100,000& = 103l 1,000
oAlEZEH Xtz 100,000& = 103 1,000
OSAHE Z278 AL 1,000,000& * 102l 10,000
oguzzay 249
50,0003 * 5% * 1238| » 42| 12,000
O=SHM23HIE & A 500,000& =* 43| 2,000
OXO0IIIA 2 =D 9,800
oEE=SCME MA 1,000& * 2,00004 2,000
of =0 2 Btx=ZH| 2,000,000 * 14! 2,000
o AIEZHl Xz 1,000,000 * 14! 1,000
oHAXRAS RIE 2AMZ
50,000& * 83 * 123 4,800
308 AtXICHM S 01 143,000 143,000 0
06 WEIIZ0NUSELS 143,000 143,000 0
OstuisEdA2 23 143,000,000& = 14 143,000
401 Al EHIZ 2O Y| 147,600 22,500 125,100
01 A& HI 147,600 22,500 125,100
Otlssitza 23 At 10,000,000& * 14 10,000
OANEEZMZ OIA=SASE E3AM
8,000,000 » 1JHA 8,000
OH=SUAR TMBA 7,000,000& * 1002 7,000
OB&EAMD cl28d ZAF 1,300,0008 * 78 9,100
O2H2Aa 38 223 At
10,000,000& = 14 10,000
O3 MZZOA B A
5,000,000& * 1JHA 5,000
ONSEH2THM2 =2+ HIIIEZ SXSA
9,500,000& * 14 9,500
OLMRSTNZ EATR B4BA
20,000,000& 14 20,000
OLMHSTAZ S0HYFTI| LB A
500,000 * 6& 3,000
OLSHSTHD ROHYHIIBATA
4,000,000& = 14! 4,000
OLSH2CHE WEAE L MIIHEETIR
At 5,000,000& = 14l 5,000
OANEEMZ XotsHY AT Ze EXSA
6,000,000& = 14l 6,000
OANEEAMZ A ESE EXSA
5,000,000& * 14l 5,000
OMSRSTHE .98 QUAHBA
6,000,000 * 14l 6,000
OANEEMZ & I BXISA
40,000,000 14 40,000
403 XX SHHMSAH=01& 48,000 48,000 0
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AR J|EHAY SN MBS TAIFAE
=R ﬂﬂcm_ 2435 L SHACAEL(SILBB/25H002)
Sl ANPENE 2225 (B9 @)
= PSS
A= 2M -3 - SAEH) - MRAY - BES Ol @Egj Hws2
= 27,000
Al 21,000
02 271 2SOl CHEt CH 8 AL B 48,000 48,000 0
OBMHPR L YECHB SAHPY|
24,000,008 * 2244 48,000
= 27,000
Al 21,000
405 THoHE S| 610,400 368,900 241,500
= 150,000
Al 460,400
01 KAt L S S| 260,400 168,900 91,500
OZMZ SHOIK HAIB ZItpe
1,000,0002 * 14! 1,000
ONBEHZ AIAE W g 7
30,000,0008 * 14! 30,000
O=AM2el MYl 0153 174,000
cTNE2 N P 52,000,000 * 2CH 104,000
oMt 0IZ3t S/W 29,000,008 * 14! 29,000
oMt 01Z3t 41,000,008 * 14! 41,000
ONSETHNE TN
12,700,0008 * 2044 25,400
OB 2EE 2 1,500,008 + 109H 15,000
O=AMZ2lg FII 7Y 5,000,008 * 14 5,000
OMIt 7 1,000,0002 * 104 10,000
02 ENTYHI 350,000 200,000 150,000
ONBENZ SHPY 10,0002 * 10,000 100,000
= 50,000
Al 50,000
OR2EMZ SHPL 10,0008 * 10,000 100,000
= 50,000
Al 50,000
ONSENB NP
10,0002 * 1,0002 * 10744 100,000
= 50,000
Al 50,000
OBIYEAN 2o 10,0002 * 2002 * 122 24,000
OYUEN 7 15,0002 * 800 * 23] 24,000
OFI= A 20,0008 * 1003 2,000
AR 22l 707,220 625,595 81,625
101 0121 4] 222,363 172,075 50,288
04 JI2H2ENSE 222,363 172,075 50,288
ONBEAZ FAte 65,699
oJl23 44,2009 * 4% * 230 40,664
oFEaY 44,2009 * 4% » 462 8,133
oQIRt g 44,2009 * 4% * 112 1,945
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43 JEAYA A BMSEC ARG
M BBCAH 2435 L ST AEIL (2L 22 /25 0=)
SRl AEEM2 23235 (9 E2
AR RN I B(EN) - HEAY - B2 0f & o e HImE 2
oAl2t2l=2 66,3003 * 4H * 5  10& 13,260
cE MUNEE 2E3
64,002,000& * 2.65% 1,697
O M2 Azl 114,973
oJllEaag 44,2003 = 79 * 230 71,162
oFFH 44,2003 + 7Y * 46 14,233
SR ESS 44,2003 » 798 = 11 3,404
o AZ2tel=Y 66,3003 » 7H * 5 » 10& 23,205
ocnE AT sea
112,004,000& * 2.65% 2,969
O X2 M2 A2 32,851
oJlleag 44,200 * 29 = 230 20,332
oFFH 44,2003 * 29 * 46 4,067
oA\ X< 44 2003 * 2% » 11 973
o AMZ2t2lY 66,3003 * 29 » 52 * 103 6,630
cE . MUNEE RE=
32,002,000& * 2.65% 849
OM=cl£ 44,2003 + 294 = 102 * 103 8,840
201 L2 H| 381,857 368,620 13,237
01 At 22l bl 64,190 56,870 7,320
Oget=ZH| 57,700
o #MFEH|I R b 300,000& = 12& 3,600
oFHAI2E A2 3,500,000& = 123 42,000
cIlE HAARE 500,000& * 12& 6,000
oI AIEH XY 300,000& * 12& 3,600
o AMdE2RX 22| 500,000& * 53| 2,500
O &=l 500
odgtAE|IAt W= 150,000& * 23] 300
oG AJA OHM LA WS
200,000& * 14 200
O1ul=tl 1,040
o AtZe| Xt OI=Hl 40,000& * 13 * 23| 1,040
Otz 4,950
o M&EH X 550,000& =* 3CH * 33 4,950
02 E=2gHl 317,667 311,750 5,917
O332= & AMA 258,957
ocRAMNER 15,000& * 20 = 12& 360
oNMJIlg 4,950,000 * 2IHA * 123 118,800
cAR2E AN MIZ
500,000& * 6IHA = 12& 36,000
ST AIJtAMNESZ 1,880,000& * 53 9,400
oi - Stk gm 500,000& * 294 = 12& 12,000
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A2 JIEHARYS SNBSS AREC

PR :'—:'—CA-I_ 245 ¥ RRTAZL (2L 2E/250=s)

ol ARICHZ 222s (EER-E]
Al . g R . CHel (5 o .HNS &EIE - =
== ° _I_A—I S e T ;Tl(gl):”) }\'”—l—}\l't:l S = 0:“ 0:”/\|,o|.| I:”JJ-BCJ

— T

OXI—%_I‘:_}\-II’_} A . 8|,J\CE

50,000& * 54 « 123

o XHS A A 10,0008 * 2CH
oXEE £H2 800,008 * 24 * 15|
OXNSTNB FIE £)I2

350,000 * 3 + 12

oMJIMEl ==&
300,000& = 20 + 12&8

Sk al= 600,000& * 2JH 2

of -] 300,008 * 1l
SAYAM B2l OE 48
135,008 * 2044 * 128
SHIIHBR Y 24T
800,000%! * 122
cAYHY 242 500,008 * 204
oz AP 242
80,0002 * 2)H4 * 122
o= eIyl 10,0008 * 122
o283 A2 700,008 * 244 * 13
otiet AR 3,900% * 560
oYUM YNMNEY 500,008 * 4042
CHANESAS 1,300,008 * 244
CMSTH BAESLS
250,0008 * 674 £
cHMASE 500,0008 * 122
CEAMM RS 200,008 * 24 * 25|
CNERLELZ 200,008 * 2H4 * 23|
oABOIMBSEIY 200,008 * 244 * 13
2T B L ADBARH
2,383,0008 * 14
oXYEHE2 350,008 * 2CH
oBIIFHI| YUE 350,008 * 122
oX4I| YU 50,0008 * 122
ot U2 60,0008 + 122
cROIHUIAMER 700,0008 * 122
oNSTNE ROUAHIAMER
650,002 * 122
o7 ¥xExW 22yl 200,009 * 122
szl
ouz o2
1,30020 * 10AI2F + 2CH * 1202
oXSTHB Lyl 300,0009! * 5%
OA&ZHIS XYl
S AR 3,100,0009 * 2944

3,000
200
1,600

1,050

7,200
1,200
300

3,240

9,600
1,000

1,920
1,200
1,400
2,184
2,000
2,600

1,500
6,000
800
800
400

2,383
700
4,200
6,600
720
8,400

7,800
2,400
4,620

3,120
1,500
19,600
6,200
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A= JIEAY A SN BMSIETAIFIS
HH: ZTITHNZ 245 L RIS ATH (L2 /2350=)
SRl NREAR 2925 (e &
- _ = ME
AZ SN FHH . SHR(3) - MBAY - BES ol Ol AF o8 HluS2
oXR2T M ASS LI
1,000,000& * 4002 4,000
odIl & JIAAE=XBI
2,300,000 * 2JH A 4,600
o2& IR XH 400,000& * 128 4,800
OX+&H| 7,190
ollszAa & =321
3,595,000& = 2CH 7,190
OX2EMZ JIIASBE (20, otE3)
500,000 * 22 * 128 12,000
OZ2 YHAAE QAL+
17,0002 * 7500 = 128 15,300
206 M= Hl 15,000 12,900 2,100
01 =4 15,000 12,900 2,100
=S2tc| ollsM & "=+
600,000& * 5JH A 3,000
OoHZEE 2 7Y 300,000& = 5JH4 * 68 9,000
O&ll & HJE LS +& 300,000& = 108 3,000
401 Al EHIL 2OHY| 63,000 45,000 18,000
01 Al£Hl 63,000 45,000 18,000
Ol . Mt IS 23 At
20,000,000& = 14l 20,000
OFAUHE H2AH HUE TMSA
3,500,000& * 200 7,000
OZ= OFAE & O3 QYAH SA
3,000,000& * 3JH A 9,000
OFA #BlARS Y HXSA
5,000,000& * 14l 5,000
OR=F OIA=AS3 S2AX £X
500,000& = 8K 4,000
OZN2 =&ZsS uid SAM
10,000& = 1,0004 10,000
O2=F Hgol iHza 8u 2=
8,000,000& » 1JHA 8,000
405 AHoHE S HI 25,000 27,000 A2,000
01 HME =SS HSHI 25,000 27,000 22,000
OARE &I 7 20,000,000& = 14! 20,000
OXsEMda Sctele 2 500,000 1074 5,000
SET M2 OH2AIZE AEAS 267,000 211,200 55,800
= 133,500
Al 133,500
101 2124l 198,000 156,000 42,000
= 99,000
Al 99,000
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OFAN =8 450,000 * 53| 2,250
o4& =8 50,444
od2L]| 2 50,000& * 6CH * 123 3,600
SHIIHMAA =25 1,300,000& * 4= 5,200
CAYEHBUNY 442
1,000,000& * 8= 8,000
o¥x B =HE(LEEFRSE X8
18,0002 * 550 * 23l 19,800
osdIl HIIEAMN =5 90,000& * 5CH 450
olHizI| Il A= 320,000& * 23| 640
o HEZME BAZ 120,000& * 23 240
oD HaZx Hi 248
7,000& * 311m" % 23] 4,354
o5l |NES HY 442
100,000& = 500 = 12& 6,000
o R0o1ZHl g¥x 180,000& * 12& 2,160
(@)=3=:¥=3 90
o NAUNA BEHZ  45,000& * 29 + 13 0
O Rg= 16,400
oEZIN REZ (202, YaHIE, &
2) 2,200,000& * 23| 4,400
cuERY RFEHS
2,000,000& * 6IH2 = 13 12,000
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¢ JIEFARR A AN 2MSAE2CIAREL

C 230z 2el ¥ 2 (2 2B /250=)
C2AEEE - 2

S BH - S(S) - NEAY - BES 04 4 o e
O =X-11:] 1,200
o ABIOLM &3] 90,000 * 12 90
ogzel Al g2/t 100,000& = 13 100
oft=d™ D=0l ¥3lHl  130,000& * 2% 260
oQtM 22| w=ES=Hl  150,0008 * 5 750
OFA2te] A2 2¢ 15,508
o2IAE S4HSHTH ADT
450,000& * 2002 900
oAiliSa & A2XM 720,000& * 14 720
SRUIIAH A2 405,000& * 200 A 810
o JIH ZHI XtTH 1,000,000 * 23 2,000
o &Il &dl XM 1,000,000& = 22l 2,000
oAa3t)| #Y 25,000& * 4004 = 13l 1,000
oEZI.AHII.NES 800,000& = 22/ 1,600
oZgy &M Y 75,000& * 108 750
ofds8 Az Y 35,0003 * 200K 700
cuzg ASH 2
40,0008 » 15H = 23 1,200
oAZ JN& 28R PY
414,000& =+ 22/ 828
o AZtel XM P
30,0002 * 108 = 102 3,000
OAld #Hl |l 7,366
oFArZtel |sXdl 7,366
- 23l 2 4,500& = 8,986M * 3% 1,214
SEEIE 4,5003 * 14,547m" = 3% 1,964
SOtE 4,500& * 2,997m" * 3% 405
2EX =2 4,5008 * 3,9156m * 3% 529
2=d ZIIE  4,500& * 2,666m * 3% 360
Al SEHs2
4,500& * 17,123m" = 3% 2,312
Al HOIEESE
5,000& = 1,164m" * 10% 582
OJIEt EHI =Albl 26,215
o E3AE S+SETHl =AUl
290,000,000& * 1.8% 5,220
oZHE CCTV RAIE= 45,000,000 * 4.5% 2,025
oZ¢& XEEE R4
1,800,000& * 14 1,800
o 2MIIHEHl =Xt 607,500 * 404 A 2,430
oAAIZH I JRAHl 1,800,000& * 14 1,800
ocAIFWSI| =A== 5,000,000& * 14 5,000
o&AIE A4 RXIbI 720,000& * 2002 1,440
oXtsa M EX&dl =Xl
2,500,000& » 141 = 23 5,000
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A= JIEtAtE & FAN  2MSAE2EAIR A
HH: 2oz 2ol L 2 (2L 2Z/25H0=)
&t 23AE2Y - 2tel (etel: =3
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
oNM=EHH SXE= 1,500,000 * 14 1,500
@F=2o]] 30,000
SR2UIIHEIBAMN EF
15,000,000& = 14 15,000
og2ddl L0 SAlHl  15,000,000& * 14 15,000
(@) K=3:] 46,636
oFstlsd ¢ 46,636
=P (EH)
18,000& * 2& » 7Al2+ = 80 20,160
2B (2RE)
18,0003 * 0.5& = 7AI2t ~ 802 5,040
& 2AMI| Az 1,400& * 5002/H 700
ALK A=
18,0003 * 2&  BAlIZ+ » 72 20,736
301 et el = 5,000 5,000 0
12 JIEt243 5,000 5,000 0
OgIztel &all XI=dl 5,000,000& * 14l 5,000
401 Al L2 T 100,000 75,000 25,000
01 A& HI 100,000 75,000 25,000
O=2stoi=2 ves22ef Wi
100,000,000& = 1A 100,000
405 KtatE =S| 1,200 2,700 A 1,500
01 XAt =SEFH=HI 1,200 2,700 21,500
OO0 ZSFalIAF 700,000& * 104 700
Ol =21 500,000& * 1CH 500
I8l - =333 23 343,179 323,594 19,585
101 @124 H| 3,610 3,504 106
04 JIZtH22XHSE+ 3,610 3,504 106
OJ128¢ HAL==0| 3,610
o OHHE 0] 37,600& * 123 » 8H 3,610
201 2Bre | 79,569 72,090 7,479
01 AR 2 2ldl 5,130 0 5,130
o1u=y| 5,130
ocZAHSAMA Z2E= Y 5,130
02 2244 16,558 14,630 1,928
Od= 2022 A3l 3,500,000& * 13l 3,500
O3HE ZEHEHl ®=Xdl  3,150,000& * 14 3,150
OZ3¢E = A2 F&  450,000& = 14! 450
OJIEt #Hl |XIHl 450,000& * 14 450
OJIgl8% ZEAM +#& 2,340,000& * 14 2,340
OJ=3d S 28 1,800,000& * 14 1,800
O&AE M- 720,000& * 23| 1,440
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¢ JIEFARR A
st 2ol ¥ 29(283
C2AEEE - 2

AN 2MSAE2CIAREL

M- = o9(3) - MSAY - Ba= Aro e
OSdHZ tia B2 1,500,000 * 14 1,500
O EHOIX |2 12,850,000& = 15% 1,928
A2 ZHI 57,881 57,460
OJ123H 22 M 48,681
o ILAH HI & 2,500& * 20004 * 123 6,000
o M X HI & 130& * 2,65004 + 183l 6,201
o 0N & 500,000 * 123] 6,000
cJIE3H dEsde 2,200,000& * 53| 11,000
oAU EZE VIRM 1,100,000& * 53| 5,500
oOi2h J|HBOIOHY HEAHE
6,000,000& * 13| 6,000
cJgsd ARE F2¢Y 100,000& * 123 1,200
ooligtEZst2t 2l 3,000,000& * 23| 6,000
cHoteEE 130,000& * 63l 780
Ogasdobtd s2E2ME 9,200
o M X HI & 130& * 2,00004 * 203l 5,200
Sl RN B 200,000& * 202 4,000
A 24| 20,000 0
S AR 20,000 0
O AQEEE EIZI0IHAI AR O
20,000,000& * 14 20,000
BB AZ 240,000 240,000
HALRHIEAZ 240,000 240,000
OJI83% =3 243
20,000,000& * 123 240,000
&S X J b 5,000 73,300
A2 Y| 5,000 5,000
AHS 22| dl 5,000 5,000
ON&EH dxz 5,000
o= 4| 500,000& * 53| 2,500
oclIEH 500,000& * 53| 2,500
ZIANE2Z - 22| 2F 3| 3,600 3,450
202 44| 2,100 2,100
01 SLHA b 2,100 2,100
O3dY Ald2elodl 2,100,000 » 14 2,100
203 Y2 =&l 1,500 1,350
03 Al =X 25| 1,500 1,350
OUE=FHAIFA 1,500,000& * 14 1,500
22 (222 /M=) 539,009 361,250
MEALE 29 - 22 539,009 361,250
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HSALE 2el(2sL22 /M=)
P 2SH0 HSAE 2Y - 2 (ehel: =@
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
0 & 24
HMEAlE 22t 239,594 132,753 106,841
101 @124 H| 10,000 10,000 0
04 JIZtH2 2 S ES 10,000 10,000 0
OZINE LAALARA(ZRAAFC,AIEESTH)
10,000,000& * 1A 10,000
201 L Br2 2| 169,594 102,753 66,841
01 AtR2tel 8,280 8,160 120
OHMSAE atEa 2252 8,280
oHNEM ¥ et
1box * 280,000& * 12& 3,360
SE=ON 10box * 41,0008 128 4,920
02 23244l 161,314 94,593 66,721
OMSAE KXl 50,888
o MAIE & HMSII 1,000,000& *» 14 1,000
o2 A A2 6,200,000& = 14! 6,200
ods & HERKX 5,000,000& * 14 5,000
oZJ|x3 U7X 4,000,000& = 14l 4,000
o XJER HHIRX 1,300,000& * 14 1,300
odLtgl Mat &Y 4,000,000& = 14! 4,000
oHSFAE M 2 B2 3,000,000 * 14l 3,000
ozsd4dH SNE+ 1,000,000& 14 1,000
od=Il Il &l 1,500,000 * 2CH 3,000
o&¥stx &4l | 300,000& * 702 2,100
o2& HIF |l 3,000,000& = 14 3,000
oX0e CIZE KX 600,000& * 3CH 1,800
ocgxA W2+ RUE R
5,000,000& * 14l 5,000
oZEFIE 2RELASHAE 7
89,756,000& =* 5% 4,488
o AFINE Y et INE SUAERX
3,000,000& » 14 3,000
ocAFINE Y QetHINE LESAERX
3,000,000& 14 3,000
OJt2s 2ots |RNE= 8,720
cI2S ®RAES 80,000& * 345 2,720
o2ots RAES 80,000& * 308 2,400
oE&E B 3,600,000& * 14l 3,600
OXM=AE =X 20,530
oS3 &HIRA 510,000,000& * 1.8% 9,180
o ESZIIHCCTVE A2+
30,000,000& * 4.5% 1,350
oXMZet A4 SAlHl 5,000,000 * 2002 10,000

_39_




©OJIBFARE &

CHSAE 2el(SR2Z/HR)
CEEHC MSsAE 29 - 2

S HE - S(EN) - NRAY - BYS sk oy S 2
0f 4 o
OHMSAE Ex=3EEHH 22X
300,000& * 3944 900
(@) K=3:] 32,276
cAUSEMS2 e 16,920
- 320RT 18,0003 * 1.6T * 8AI2t = 502 11,520
- 150RT 18,000& * 0.75T *8AlI2t = 50 5,400
caAllSEMSs2 HEtd| 13,536
- 320RT 18,0002 * 1.6T » 8AI2Z+ » 40 9,216
- 150RT  18,000& =* 0.75T * 8AIZt » 40 4,320
oligH=z 6503 * 7TAIZH » 408 = 100 1,820
OY4AINE NeoEEHBAY
28,000,000& » 14 28,000
OB NEEEHS |
20,000,000 » 14 20,000
401 A& HIZ 2 CHYI 60,000 20,000 40,000
01 A& HI 60,000 20,000 40,000
OB A2 2S04 60,000
oHEIIMY U BlARAEI| &gl
5,000,000& = 14 5,000
©J1 ¥ Yhiral 2
5,000,000& =14l 5,000
o= ¥ AEHH|l el 5,000,000& * 14! 5,000
oQletol HIE Sx=AI& &
10,000,000& = 14 10,000
cAHUME2 d2)| UGS WA
10,000,000& = 14 10,000
caliX=s2 24 &= 25,000,000& * 14 25,000
2sd 2d2 81,392 93,115 211,723
101 2124l 51,162 46,995 4,167
04 JI2ZtHI22XNSES 51,162 46,995 4,167
OSE&IE 22l 32,668
=Jl2g 44 2003 » 2% » 230 20,332
oxFsd 44 2003 * 2% » 46 4,067
oXAHI+E 44,2009 » 2H * 11 973
o Al2tQI =&
8,290& = 2 * 40Al2t ~ 118 7,296
OEEFE 18,194
=JIZ2g 44,2002 » 198 = 230 10,166
oxFd 44,2008 + 18 » 46 2,034
cHXtY 44,2003 + 19 » 11 487
oAt =H
8,290& * 198 = 40A12+ « 108 3,316
cEEH, MBS 2,191
-NE2Ee 682
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©OJIBFARE &

CHSAE 2l (SR 2Z/HE

=
S5 M=AE 23 - 2l

AN 2MSAE2CIAREL

SR EB O3 - NRAIY - HAS Aol Bl =2
Gil &t 0
MHEE R 48,671,0002 * 3.1% 1,509
o1l =l 300
o otM 3} 50,000& » 39 150
o &t 20,000& * 3% 60
SR 30,000& * 3 0
201 B2 HH| 4,480 3,870 610
01 AR 2teld| 4,480 3,870 610
O&Cl2tel &4l ==2lhl 2,000,000& » 14 2,000
O&L7E & gz 550,000& * 43| 2,200
O&ttl2d &7 280,000& * 12| 280
206 i 2| 25,750 25,750 0
01 M=l 25,750 25,750 0
O&t 258 Ml 25,750
oZtf|2e| =% 7Y 9,000,000& » 14 9,000
oMl BHEA 2 450,000& * 203l 9,000
oc&lfj2e Hlz +¢
200,000& * 2JH 2 * 53] 2,000
oBAEg E XMC|(8tXE) 25,000& * 150 3,750
oXCl&tel s (&#=2) 2,000,0008 * 14 2,000
ZeE713d 29 164,923 133,282 31,641
101 @124 d| 72,523 57,102 15,421
4 D12t 22 RS2+ 72,523 57,102 15,421
O&L 2R 68,251
=Jlg=z 44,2003 » 4% * 230 40,664
oFsd 44,2003 * 49 * 46 8,133
ocXteY 44,2008 * 4% x11Y 1,945
o Al2tel=Y
8,290% * 4% » 48AI2t » 11& 17,509
ONs5E ¢HEE= 3,072
clNEEHEZ 68,251,000& * 1.4% 956
oMTHEREZ 2,116
O1l=tl 1,200
oHiMZR= 100,000& * 4F = 23| 800
o OtM 5} 50,000& * 4Z 200
o &35t 20,0004 * 449 80
o9 30,000& * 49Y 120
201 B2 | 62,400 61,180 1,220
01 At 2teltl 24,400 25,580 A 1,180
OASR2teltl 8,800
cEZENMA(AUHEXE S)
20,000& * 100K 2,000
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A= JIEtAtE & FAN  2MSAE2EAIR A
I WAL 22(2SHL22/HS)
el 2882 MSAE 2 - 2l (ehel: =@
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
cHINRESE 100,000& = 123 1,200
oS =0t M 100,000& = 30H 3,000
SRH2RA=EZ 15,000& * 2& * 12& 360
o 22X+ OHAH 7,000 * 4% « 802 2,240
ogxzs & A2B235+7Y 15,600
o MOl +& HHIAX 440,000& * 102 4,400
oMC+E SHEX 440,000 = 43] 1,760
oStEA EF 300,000& = 123 3,600
cHAESTY 70,000& * 12& 840
o A2 ZHl =X 500,000& = 102 5,000
02 32244 38,000 35,600 2,400
OZ23R= 38,000
cMEE = 2,000,000& * 13l 2,000
ciolEAMER 400,000& * 12& 4,800
oMIItM =g 450,000& * 12& 5,400
oABAER(RUEHE) 250,0008 * 128 3,000
oAMEE RAES 1,500,000& * 128 18,000
ocRFIRA(M=IIS) 400,000 * 128 4,800
206 M =4l 12,000 15,000 A 3,000
01 =4l 12,000 15,000 23,000
OZ&tCl2tel M=l 12,000
oz 3,500,000 » 14 3,500
oHiAtE R 350,000& * 103l 3,500
oHlz>7¢ 500,000& = 43| 2,000
oBAlE & 30,000& * 10094 3,000
401 Al EHIL 2018 18,000 0 18,000
01 A& HI 18,000 0 18,000
O&FALL H=F SA 18,000,000& * 14 18,000
SEH HMSAME2Y - 22 2Z234] 2,100 2,100 0
202 (44l 2,100 2,100 0
01 =2 AbI 2,100 2,100 0
OXM=AlE et 2,100,000 14 2,100
=UHsdH 29 51,000 0 51,000
401 Al HI 2 S CHY| 43,000 0 43,000
01 Al€Hl 43,000 0 43,000
ORI SHE 43,000
SUHESH UM A (L A=I1)
23,000,000& * 14 23,000
oxFYAHES ¥ HES WA
20,000,000& * 14 20,000
405 KHatE =S| 8,000 0 8,000
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04 Nz

= JIEtAIE A FA  BAMSAE2ACIAMRL
M MSAE 2 (2L /HK)
@42l 880 MsSAME 29 - 2l
A2 .S EHY O (BH) - MEAY - BaS 01l & o Bl
Gil &t 0
01 AL =S FSHI 8,000 0
OfRo=Dl 8,000,000& * 1CH 8,000
HY2HHUI(SSMSAIE2IAIRA)(JIEHIIE 21,308 21,308 0
Jl23| 21,308 21,308 0
Jle=3| 21,308 21,308 0
201 B2 | 13,808 13,808 0
01 At 2teltl 13,308 13,308 0
Oget=EZH| 4,500
odF MEPEEH 1,000,000& * 14 1,000
odd ZFHls2lhl 2,300,000 » 14 2,300
= J|Et =2H| 1,200,000 * 14| 1,200
O=&l 8,808
oJ|I2d8f =& =4AHl  5,000,000& * 14 5,000
oE2YUR =8 Z4Ald| 3,808
39 7,000& » 8% * 463] 2,576
S EH2(NKeld) 7,000 » 8% * 223| 1,232
02 332l 500 500
0323 500
oRERF(SI], L8
1,750 = 208 * 123 420
oTVEdlZ 6,600& » 12& 80
202 04l 3,900 3,900
01 =LHOd B 3,900 3,900
OJI2gS =8l 3,900,000& * 14 3,900
203 AR F&lH| 3,600 3,600
02 I R F Y| 600 600
O&E IR =A 40,000& * 159 600
04 REA2LERFEHI 3,000 3,000
ORNMZEYEFA 250,000& * 12& 3,000
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= > O
M & 0 & AF Y E A A
A= DIEtAIE & A MEEAAIH A
M s MEEHE IH(BHFAES/HIIS)
Chel: SEXQ FAMY D HEE2I (el &)
_ _ PN ==
AZ 2N - FH - CRA(FAH) - MRAE - BES O AFH Oﬂ/ﬁo” Hws2
MESIA ALY A 16,920,499 19,955,072 A3,034,573
= 54,700
& 24,800
Al 16,840,999
ASH MESH XM (SHEES/HIIS) 7,316,528 11,034,663 AN3,718,135
= 54,700
[ 24,800
Al 7,237,028
SSHQ 2L HEE2Z 466,427 392,537 73,890
AL Xl 2el 251,227 228,467 22,760
101 2124 d| 21,217 20,081 1,136
04 D12 HZ22NEES 21,217 20,081 1,136
Olgd RUHAE2E L Az Ry 11,935
SPIR= 44 2003 » 1H * 257 11,360
oMTHEAEZ 11,360,000& = 3.1% 353
clE2HEE 11,360,000 * 1.95% 222
Ollg&Es+H 223l o2
44,2003 » 5 * 3Y = 73| 4,641
Olfg&d=H =34 AT 212
44,2004 » 78 * 32 * 53| 4,641
201 LA 189,010 167,386 21,624
01 At 2teltl 92,990 49,350 43,640
O3] 1,300
ogXA WREsE ¢ A3 ¢
100,000& * 3= 300
S HARXZE HRAZERY
100,000& * 108 1,000
oeg=¢ 23,950
oYX G 50,000& * 114 5,700
o=xXag 50,000& * 3652 18,250
(OF 1= amE=1s] 240
ogtgte| Xt WS 120,000& * 1% * 13| 120
CIIAIMARIN WK
120,000& = 1H = 13l 120
ogxtg 25,000
SMNEZZMEE MR LR=
25,000,000& = 13l 25,000
Oz 42,500
oXMIItMAAMNUE#M =T  950,000& * 12& 11,400
o®™I|ZH HIAMN =22
800,000& * 13| 800
O AHOIMHEA =42 700,000 * 13 700
oXlots QEL HAIx=22
200,000& * 100024 = 43] 8,000




A= JIEFAIE A SN MESHHAIGE A
M et MESIH XH(SHEE2S/HIIS)
Sl EEXO BAMYI| HEHSY (=CR-L
AZ BN HH O (BH) - MBAY - BAS Ofl A o4 dd = HRS2
O & 04
CEARAT HAI =F  500,000& =* 43 2,000
ocEES QHET EHEZ 400,000& = 103] 4,000
CHITEE +H 48
150,000& * 2I0 A = 23] 600
SUHBI L SOOI 248
15,000,000& * 14! 15,000
02 S32gH| 96,020 118,036 N22,016
Os32=2 % HA 59,320
ocHEHd MIIRS 4,300,000& = 12& 51,600
ocligd Motx=ER=2 430,000& * 12& 5,160
o BB AIAE AISE 130,000& = 12& 1,560
oFHA S BEZ 300,000& = 13| 300
oHAMNESHINN BEZ2 300,000& * 23] 600
oAHOtN E3lH| 100,000& * 13| 100
Od =4l 12,000
o ALY F2H| 1,000,000& = 12& 12,000
OAlI & &H| = X 8l 24,700
oHA FXE+ 5,000,000& * 13| 5,000
o224 RIS 1,500,000& * 23] 3,000
oRUHAMNE SXNES 2,500,000& * 24 A 5,000
o2 NSAAHE(FA) RAES
1,500,000& * 33 4,500
oHIEAIAOIIAH, ®I|) RANES
1,000,000& * 33 3,000
cBES XHis AlE FRES
1,000,000& * 33 3,000
c&EL M==&Hl FXNEx
500,000& = 23] 1,000
oM =Dl =2l 100,000& = 2CH 200
206 M= Hl 11,000 11,000 0
01 &4l 11,000 11,000 0
Odis7H 45 ¢ 8,000& * 500 4,000
Og & €5H ¢
5,000& * 202lEf » 50= 5,000
0422 5% L H27Y
10,000& * 100S 1,000
OBNFH ZZ8 BATY
10,000& * 10 = 104 1,000
401 AIEHIZL 20| 30,000 30,000 0
01 Al&H| 30,000 30,000 0
O&E+3 “FAE WX SA
30,000,000 * 14 30,000
A AR SMSK 16,680 16,830 A 150
201 Let2HH| 14,440 14,590 A 150
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SIEFAFE A T agEe
Mot MESA TH(BADS/HIIE)
SHOl oM HEE2Y

_ _ HE T
AR .2 (FH) - NRAY - BAES Ao il ot o
01 A2 22l 6,990 6,990
om = 6,990
oML DR M= (4 - ) 7Y
80,0002 * 28% * 13| 5,040
oMYA 22X FHeis P
30,0008 * 289 * 13l 840
oML 2R 20 7Y
20,0002 * 28% * 13l 560
oBE 22X FY P
2009 * 113 + 2502 550
03 A2 b 7,450 7,600
OZ0I8Y HAEY T2 KN
50,0002 * 7% 1,050
OZ0ISY MSHBA NS 7Y
20,0002 + 160% * 23| 6,400
301 B A3 2,240 2,240
10 A B2 43 2,240 2,240
CEEN LTSIV
7,008 * 160 * 23l 2,240
2 o =EIY 2o 198,520 147,240
201 YEr2 Y| 138,520 140,840
01 AR 22l 8,600 1,200
oYxz 8,600
CHMINFY UKE 400,008 * 103] 4,000
SHIIM 2&XY UX2 230,008 * 203 4,600
02 ZZ2YH| 129,920 129,640
OZZ22 % Al 4,920
o(Wel A4)XY BAWALLS
70,0002 * 2CH * 23l 280
o (ol A2 HSIHAl
50,0008 * 2CH * 23l 200
o(Wol A XE AANSEE
35,0002 * 2CH * 23l 140
o(Wel A%)XY BHE 450,008 * 20H 900
oAMI|NRY FHR 850,008 * 4CH 3,400
ON&ZEIRN Y] 2,000
oHA&TH 2X 2,000,000 * 1k 2,000
Oxter Hety] 123,000
oAMI|HFY REHl 20,000,008 * 4CH 80,000
oAMIHRY 42l 9,000,008 * ACH 36,000
o(Wel 44X RFH L 20
500,00021 * 2Cf 7,000
405 X443 S| 60,000 6,400
01 AU SEH S| 60,000 6,400
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AR OJIEALY A SN MEBHAYA
HE: WHe MEHY IS (HYES/HIIE)
D BENQ MY HEERY (e @e
- _ _ Muo
2.RN I S(EH) - NRAY - BAS 0 & 24 e HRE2
SEEFESIEN 40,000,0002 * 1CH 40,000
OE=Z= Hadl 2 20,000,000 * 1CH 20,000
WX FSXS K 152,894 326,732 A173,838
HEZ FeXe 2 149,894 323,732 ~173,838
301 YerEAz 3,000 0 3,000
10 S AHAHI 2 & 2 3,000 0 3,000
OUNXAFUSHIANE S MENYT A8
3,000,0008 * 141 3,000
307 £12+0| & 146,894 173,732 126,838
02 BIRAB A B 146,894 133,732 13,162
OMBHFULAIR £5 129,528
P 53,2008 * 53 + 2542 67,564
oFEaY 53,2008 * 5% * 522 13,832
SELEIRSS 79,8008 * 53 * 622 24,733
oo Rfag 53,2008 * 58 * 122 3,192
ooF2tag 3,330 * 58 * 3132 5,212
o
9,980 * 5% x 2AI2t * 50 4,990
cE X0 2,000,0002 * 58 * 1 10,000
OMIFAAAR 282 14,866
o=0INZ RYI  119,261,450% * 4.50% 5,367
oAYBE 2LI  119,262,4508 * 2.8%% 3,364
oLQIRUTE P 3,363,1738 « 3.20% 11
SMMEBE 2EZ 119,262,450 * 3.1% 3,608
oN8EH Y 119,261,450% * 1.95% 2,306
O HFLLAIRY N=H(SE, 602, 25t
500,0008 * 5 2,500
HRIE XA 2] 3,000 3,000 0
202 04t 3,000 3,000 0
SETLL 3,000 3,000 0
OWYE FHXA X =0t
50,0002 * 4% + 153l 3,000
HOIZH2IAE 24X o 2 334,500 701,500 A367,000
NESZEY KX 22 100,000 200,000 ~100,000
401 A2 HI L 2| 100,000 200,000 A100,000
01 Al bl 98,000 199,000 ~101,000
OANEZ2 HEE SNz
98,000,008 * 14! 98,000
03 Al& S CHH] 2,000 1,000 1,000
OANBSE HEX KX 20
2,000,0008 * 141 2,000
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A= JIEHARIA SN MEBEAAYA
I NG MEBHY FA(BADS/HIILS)
chel: HOISHRINE 24X L 22l (sl &2
_ _ SIEN
AR .2 FH . H(3H) - HRAY - B Ofl &+ 04 Sl ko HRs2
ZAMDIIHEE RX2 130,000 497,000 A 367,000
401 Al HIZ 20| 130,000 497,000 A 367,000
01 Al& Y] 129,000 495,000 366,000
OHES 222 SABL
49,000,000& = 14 49,000
OBAMYIINEE SN2+
50,000,000& * 14 50,000
O0I===& FHHIE 30,000,000& * 14 30,000
03 AlZ = 01| 1,000 2,000 A 1,000
OHES 2222 SNBL ALLUY)
1,000,000& » 14 1,000
HOIZS0UHRXISAIE & XA 100,000 0 100,000
401 A& HIZ 2 CHYI 100,000 0 100,000
01 A& HI 99,000 0 99,000
OHIISUHAKISIAIL EXIAY JI2F A ]
99,000,000& * 14 99,000
03 AlZ 2 0HY| 1,000 0 1,000
OHDISUUXIBAIE EXIAS A& LY
1,000,000& * 14 1,000
HIOIZ2M2lAlZAIY 23| 4,500 4,500 0
202 01 bl 4,500 4,500 0
01 SLHA bl 4,500 4,500 0
OHIISHRIN LAY EXOIH]
50,000& * 6 = 153l 4,500
MU BSH BAS L B 4,493,874 7,859,018 3,365, 144
= 27,000
& 24,800
Al 4,442,074
MBMYIIHel 212t & 3,321,680 3,000,000 321,680
201 Bt A | 1,680 0 1,680
01 At 2teltl 1,680 0 1,680
OMEMIIHAT BIIAS &g
70,0004 * 69 * 43 1,680
307 2120l 3,300,000 3,000,000 300,000
05 QIZtRIEZ 3,300,000 3,000,000 300,000
OMEMY I QIS
,300,000,000& * 14 3,300,000
402 912t 20| 20,000 0 20,000
01 B2t =28 = 20,000 0 20,000
OMEHIIZ QISR B2 4
20,000,000 = 14 20,000
LYIIBYH BE HE 483,500 483,500 0




A= JIEtAIE & A MESAAH A
A ARG MEEY TH(2EES/HIIS)
Rl MAYIISEM 283 R EE (et =3
MR- FH-E(BN) - R - BaS 01 &t o8 Bl HlRE2
0 & 24
206 M =4l 483,500 483,500 0
01 =4l 483,500 483,500 0
Ogerg & SAs SEM 73S5E M 372,700
=328 162 = 1,500,0000H 24,000
SEEI= 21& = 500,0000H 10,500
=102l & 29& * 1,300,00004 37,700
=202lH 483 = 2,000,0000H 96,000
=502lH 106& * 1,000, 00004 106,000
<1002/ & 197& = 500,0000H 98,500
OMAIE RASE MA 29,000
=102l& 30& = 150,0000H 4,500
=202l & 493 * 500,0000H 24,500
O338 A& MA 81,800
=502 & 106& * 400,0000H 42,400
<1002/ & 197& = 200,0000H 39,400
ME g X HIIZS Mel 2435t 545,372 486,666 58,706
101 21 24H| 39,586 10,750 28,836
04 JIZHNIZ22XRHSE+ 39,586 10,750 28,836
OLAME & =©2J2F XgJIHel 2Y
44,2002 » 5H = 50 11,050
OUEHII=S I A= 28,536
=Jl=2g 44 2003 » 2% » 230 20,332
oFsd 44 2003 * 2% » 46 4,067
oXAHI+E 44,2002 » 2H * 11 973
oAERES 3,164,000& * 14| 3,164
201 Et2Ed| 205,786 165,916 39,870
01 AtR2teld 96,676 42,676 54,000
Oget=&H| 27,176
oHAAM 23 S0 M
200,000 * 400 » 2044 = 23] 3,200
oMYIIHEEA N EXE ME
50,000& = 200K 1,000
olEHIIS A NES M
1202 = 10,0000H 1,200
o=HSI HHE CO-AW 7
600& * 29304 176
oMy II2E=N EEZS MAH
200 * 50,000 » 13l 10,000
ocEYEI 222 MH
200& = 10,000 * 43| 8,000
oA0IS FAES 7L
10,000& * 15 = 160H 1,600
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D JIEFARR A SN MEBEIAYA

W MBEHY TY(BBBS/HIIS)
MY ZTH BHE L HE (sl &2
- _ _ Muo
22N ZHOR(E) - MRAY - HES Ofl AF o4 Sl ko HRs2
SEI0ISH AA(S0) 22N R2L
2,000,000& * 14 2,000
SEET 7,500
CHAXY MH 2F SAlY
500,0002 * 14! 7,500
Oogxt= 20,000
cZHNYHIIS Mal FUIYRE
250,000& =+ 402l 10,000
cARR YXWIIE Mol BHIAXR
1,000,000& = 102 10,000
OQREs2l AMBY SYK 2E7Y
3502 * 1000 * 12,0008 42,000
02 Z==2gHl 109,110 123,240 214,130
OZZ222 % MAl 1,550
CHANSNALEARY HMAZLD
55,000& * 128 2044 1,320
ocFHAXE AMEE
50,000& * 9CH * 13 450
ocHAXY EEZ 550,000& = 9CH = 13l 4,950
CHAXY(LH HWEE SASHEIY T8
) BHENE RSS2 135,000€ * 9CH * 23 2,430
CHPNSACEANRY EXT 0182
200,000& = 12& 2,400
(@) K=3:] 3,960
CBAISATIIL gt 2|
12,0002 * 3JHA = 110 3,960
OXtg HEtdl 93,600
odAXE |FH 800,000 * 6CH » 12& 57,600
CHAXY +HBX
500,000& * 6CH  12& 36,000
206 M= 4l 10,000 10,000 0
01 =4l 10,000 10,000 0
OBAXY AS%E 7Y
30,000& * 250K * 23l 1,500
OF2E=% X2 §X& 100,000& * 3004 3,000
OMYIIZSHESE BHA OHYT
10,000& = 50K 500
OMYIIZYR SSHXE SHAX
500,000& = 105 5,000
307 212tol ™ 200,000 210,000 A 10,000
02 QItF A E X 50,000 50,000 0
OMIIHZE AQMHAIY ZX
50,000,0002 * 14} 50,000
05 QIZtRIEZ 150,000 160,000 210,000
OBELR SHBMD| QI2IEt R 2
50,000,000& * 14 50,000
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¢ JIEFARR A M

= - 2M -3 CA(SH) - MIRAIY - BHES dE = Hlw &2
= ° T = iy o L) T NS oS =5 04| AFOH U=sa
O XM D 212 EL 2l
4,000,000 = 253] 100,000
405 RtakFE S| 90,000 90,000 0
01 AL S SFHSHI 90,000 90,000 0
OFEAXE UM 40,000,000 * 2CH 80,000
OgEEA H&EFPL 5,000,000& * 2CH 10,000
sgdE? 2& 15,780 15,420 360
201 B2 H| 14,280 13,920 360
02 2329l 14,280 13,920 360
O322= ¥ HA 10,080
cg¥SI| AN SHMEE
40,0003 = 128 = 21CH 10,080
OAl 4 & HI = X8I 4,200
oZtAIJtHet RXNE24(0ISEX Z&)
200,000& * 21CH 4,200
301 BB A= 1,500 1,500 0
12 J|EIE2 &3 1,500 1,500 0
OoMDl 28ED| Al024 30,0003 * 50H 1,500
HAAIE FOL 11,872 11,872 0
201 L2 IH| 1,872 1,872 0
01 At 22l bl 1,872 1,872 0
ogers | 1,872
CHANY STEEH M
36,000& = 520H 1,872
303 EAS2 10,000 10,000 0
01 A2 10,000 10,000 0
OF LA L SHFEFHY 012 T4 10,000
oX R 2,000,000& * 2942 4,000
o 900,000 * 40 £ 3,600
o&d 400,000 * 60 A 2,400
ZAEZILANU 29 55,670 55,560 110
= 16,700
Al 38,970
101 2124yl 55,670 55,560 110
& 16,700
Al 38,970
04 D12 HZ22NEES 55,670 55,560 110
oJl22012+A) 55,670
SRt 44,200 + 4% * 180 31,824
& 9,547
Al 22,277
oxgd 44,200 * 49 * 30 5,304
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A= JIEAIE & SN MEEZAYA
M WS MBEHY IH(BFRS/HIIS)
Sl MADISYM BHS L HH (Etel:&e)
_ _ HE T
A= 2M -3 - SAEH) - MRAY - BES Ol &+ 9K Ofl At ot Hws2
< 1,501
Al 3,713
S AIRtel g
8,280 * 4% x 122 « BAIZH 3,180
= 954
Al 2,226
ool Rtag 44,2008 * 4% * 8 1,415
= 424
Al 991
o3| 7,0008 * 4% « 1502 4,200
= 1,260
Al 2,940
oS 10,0008 * 4% * 150 6,000
= 1,800
Al 4,200
AR E (ML) 3,747,0008 * 14| 3,747
= 1,124
Al 2,623
MY BZR BHBAY 2SI 6,000 6,000 0
202 01| 6,000 6,000 0
01 24048l 6,000 6,000 0
OMUDISZM 43 =X 0|
50,0008 * 62 * 203 6,000
HOIA NS B3 A 54,000 0 54,000
= 27,000
= 8,100
Al 18,900
405 X+ &HE S| 54,000 0 54,000
= 27,000
3 8,100
Al 18,900
01 AL SEF S| 54,000 0 54,000
OHGINARSIHEAR) 7Y
27,000,000 * 2CH 54,000
= 27,000
= 8,100
Al 18,900
TEEe o HES =X 1,868,833 1,754,876 113,957
= 27,700
Al 1,841,133
SASRHDIZ 229 He 1,000,000 1,000,000 0
307 QI12+0| ® 1,000,000 1,000,000 0
05 BI2teIErE 1,000,000 1,000,000 0
OSAERHIIE LIRS
1,000,000,0008 * 12! 1,000,000
SASRHDIZ 2 WESE 23 819,133 750,876 68,257
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= JIEtAIE & AN HESIAMEA
k

mu: YEe MBI Z8(2225/HIE)
ol MRES Y WEE S (=EREE))
AR RN IH (BN HRAY - B S sk e 2
101 21 2dl 81,257 75,250 6,007
04 JIZtH22 S ES 81,257 75,250 6,007
ONMEEE Hexg oy
44 2003 » 7E » 250 77,350
OHttEEZ 77,350,000& = 3.1% 2,398
oung:sgs 77,350,000 * 1.95% 1,509
201 get2Ad| 75,876 71,876 4,000
01 AR 2 2ldl 7,000 6,000 1,000
Oget=gl 7,000
oBASMY I 2LtHE EE2 ME
1403 ~* 10,000DH * 28 2,800
olHEEE Z2tis 222 ME
140& = 10,00001 = 35 4,200
02 2324l 68,876 65,876 3,000
Oz332= & HAl 6,876
cSAMZHEIY PEE
376,000& = 1CH » 13l 376
ogE - IEXNEY BEE
400,000& * 200 = 13 800
oleEEXeE EE2  400,0008 *10H * 13 400
CUE - AEX T AANLLE
50,000& * 208 = 23 200
CTEEXEY AAE2E
50,000& * 100 = 23 100
CHEZS 2TLUELD
1,000,000& * 52| 5,000
OXtg &Eetdl 48,800
oE - YEIEY RFH
400,000& = 2CH » 128 9,600
oM (&) Rl
300,000& = 304 » 128 10,800
oUE - FEXE 2l
500,000& =+ 20H = 128 12,000
CMEBXIE (FHI) +elt|
200,000& * 3CH * 12& 7,200
o AJZH(HH) EOIN P&
500,000& * 4= 2,000
oHMSXIHXH(EHl) EIOI 7L
300,000 = 4= 1,200
oMSXIHXH(EHl) BHE2l 2L
6,000,000& = 14l 6,000
OAEZE IS X 13,200
olEEs ME RXE= 600,000& * 123 7,200
oZASMY I HEFE FANES
600,000& * 103l 6,000
206 =l 47,000 33,750 13,250
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A3 JIEAI A A MESANYA
Mz YN MEsH XM (BFEES/HIIZ)
oSl RN Y HEE =a CERT
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T (=) iy o L) ° T NS oS =5 &= 04| AFOH U=sa
01 M=l 47,000 33,750 13,250
OSA= MY HEEZD| 2
45,0003 * 50004 22,500
OSASMY I 8 ASL4E 22
30,000& * 5000 * 2& 3,000
OMass Zal=sHg 2 400,000& * 2004 8,000
OMERBE 22+ 12% 3¢
4,000& + 1,00074 4,000
OHAEX =HE 7 100,000& * 500H 5,000
OHE&S =1 74 300,000& * 1504 4,500
207 A FIHEH| 15,000 0 15,000
01 232 E 9| 15,000 0 15,000
OSA2HIIZE HMelIRtE 84
15,000,000& * 14 15,000
301 LEE A= 150,000 150,000 0
12 J|EI2 &3 150,000 150,000 0
ONEEE +amA2 X
150& = 1,000,000kg 150,000
307 212+01 & 150,000 150,000 0
05 QI+ E S 150,000 150,000 0
OsA2MY Dl HEZI] NEYI
120,000,000& * 14 120,000
Ogxlzd & XNEHII=S IS XMyl
30,000,000& * 14 30,000
401 AlEHIZL 2 0HYI 300,000 270,000 30,000
01 A& HI 300,000 270,000 30,000
SASHSE =HSH 4
300,000,000& * 14 300,000
AEL L HESAY 23 2| 4,000 4,000 0
202 Odl 4,000 4,000 0
01 =2LHOMHI 4,000 4,000 0
ONE=E Y HEE =& 2H0I)
50,0002 * 4% * 203 4,000
29X HAH SdO0E AEA Xel 45,700 0 45,700
= 27,700
Al 18,000
301 LB A= 9,700 0 9,700
= 9,700
12 JEt2 43 9,700 0 9,700
OgsHilg =AY XA 100& * 97,000kg 9,700
= 9,700
307 2120 & 36,000 0 36,000
= 18,000
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A= JIEtAIE & A MESAAH A
HE: Y MEHA ZH(BIE2S/HIIS)
ool HETO U WEE =T (el & 2
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
Al 18,000
05 BIZtRE 3 36,000 0 36,000
OLZ =dIOIE SI2t2E Hel 36,000
2 18,000
Al 18,000
HE 2L (MESZAIL ) (IIEH/DIIE 9,303,371 8,920,409 382,962
Iz 2 9,269, 131 8,886,089 383,042
A0/t A8 XI& 9,269, 131 8,886,089 383,042
101 @124 d| 9,269, 131 8,886,089 383,042
03 RIAHAZZNHE 9,269, 131 8,886,089 383,042
os30lsd =¢ 9,269, 131
SR 2,482,052
54 1,144,8403 » 239H » 12& 315,976
- 104 1,207,310& * 4494 » 123 637,460
154 1,294,340& * 31 » 128 481,495
- 204 1,378,400& * 45% 128 744,336
254 1,468,040& = 14F » 123 246,631
30 1,659,830  3H x 123 56,154
cHAHB(IIYE) 715,293
54 1,714,840& * 60% * 43| ~ 23H 94,660
104 1,777,310&  60% * 43| ~ 44H 187,684
154 1,864,340 * 60% » 43| * 31H 138,707
<204 1,948,400& * 60% *» 43| = 459 210,428
254 2,038,040 » 60% * 43| * 14YH 68,479
- 304 2,129,830& » 60% » 43| » 3¥ 15,335
cHHs(E2+E) 278,319
54 1,714,8403 * 25% * 23| = 239H 19,721
104 1,777,310& * 50% » 23] » 449 78,202
154 1,864,340 * 50% » 23] » 31H 57,795
204 1,948,400& * 50% * 23|  459H 87,678
254 2,038,0403 » 50% * 23] » 14¥ 28,533
- 304 2,129,830&  50% » 23| » 3¥ 6,390
oM (MBI 983,527
- 54 1,714,840 * 55% » 63 » 239 130,157
- 104 1,777,310& * 55% » 63 » 449 258,066
- 154 1,864,340& * 55% * 63| ~ 319H 190,722
- 204 1,948,400& * 55% * 63| » 459 289,338
- 254 2,038,0402 = 55% » 63| » 14YH 94,158
- 30 2,129,830& * 55% * 63| = 3H 21,086
o F ML (R XH)
40,0003 = 160 » 128 76,800
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= JIEFARRIA SN MEEIAYA
N WHSAZH (MBBAYA)(JIEHIIE)

Sl ol 2|

— T iy o
A2 RN BB RS - MM - BES 01l &k o e
= ETENEISES
0,000& » 160H * 2.0 = 128 76,800
cTULT(ScYRLE)
90,000& * 160Y = 12& 172,800
oTUAL (NAT AL
70,000& * 160 * 128 134,400
oBoULT (T MAE)
60,000& * 160 = 12& 115,200
o=2l= Ml (HAUTAY)
160,000& = 160¥ » 12& 307,200
oSsel =4 (AR ZHI)
110,000& = 160H = 123 211,200
o=sg|EMH(USEXHI)
140,000& = 160H = 123 268,800
oSS MH[(2tAlY])
1,800& * 160YH * 262 = 12& 89,856
o=e|FMHI(EEFOHI) 357,648
- 54 1,714,840 * 60% » 23] » 23H 47,330
- 104 1,777,310& » 60% * 23|  44H 93,842
- 154 1,864,340& * 60% * 23| ~ 31H 69,354
- 204 1,948,400& * 60% * 23| 459 105,214
- 254 2,038,040 * 60% * 23| » 14Y 34,240
- 30 2,129,830& * 60% » 23| *« 3H 7,668
oXMUIPEY(A2)
12,7713 * 1608 * SAI2t « 128 122,602
cEZDDDHE(0F2)
4,2573 « 11098 » 26¢ 123 146,101
cRURDLB(FUALE)
51,0842 » 160% * 52 = 123 490,407
oXMUIPHY(HI)
68,118& 160 * 102 108,989
oMHSHIEEZ+E (58 w)
51,990& * 160Z¥ = 0.3 » 43 9,983
oXHSHIEZ S (NSEE W)
419,090& * 160 = 0.2 = 43 53,644
oIl =l 64,000
o= 80,000& * 160 = 23l 25,600
f9 40,0002 = 160 * 13l 6,400
2@Et= 120,000& » 160 * 13l 19,200
=) 20,000& * 160E = 13l 3,200
st 20,000& * 160F = 23l 6,400
a2 10,000& * 160% * 23] 3,200
o=20Hg fFE3  7,340,584,000& * 4.5% 330,327
cAUEH 22
7,340,584,000& * 2.665% 195,627
oMIEE = 7,340,584,000& * 5.7% 418,414
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= JIEtAIE & A A
M HY2I U (M AL A)(OIEH/IIE)
CHel: ol 2% P
i _ HEAC =
AR 2N FHH . S(3) - NRA Ol AF o8 =
clUZEREEE 7,340,584,000& * 1.95% 143,142
SRS =
4,000,000& * 78 » 20& * 150% 840,000
oMHSHE 100,000& = 160¥ = 13 16,000
S3-EaN= i) wWIH 22X
3,000,000& = 10F * 23] 60,000
Jl=2dH| 34,240 34,320 A80
Jl=&Hl 34,240 34,320 A80
201 et 20,520 20,600 A80
01 At 2t 19,800 19,800 0
Oget=2H| 10,864
cHIMNRE 225 F&  150,0008 * 10E 1,500
cHIMNEE XF 7E 350,000 = 43/ 1,400
oMAEH A2F 7Y
300,000 * 85 * 23| 4,800
cUTANRE F
150,000& * 65 * 23l 1,800
SHEAER 12,0008 » 65 = 12& 864
oA ¥ HEy £ 100,000& * 5& 500
OF=1=1:] 5,576
oJlZ2gR+d sS4l 5,576,000& * 14| 5,576
ogxz 3,360
od=Jl ZA= 40,0003 = 700 = 123 3,360
02 3244 720 800 A80
0222 ¥ Al 720
oTV(AJLOI2HOIE) AIEE * 128 720
202 04l 8,400 8,400 0
01 = LHAOHI 8,400 8,400 0
OJl2ge+s 2 * 108 8.400
203 B2 =& 5,320 5,320 0
02 St R =AY 1,120 1,120 0
(OF=3-_P g Bty * 289 1,120
04 FEAEESZRFAH 4,200 4,200 0
OFMEsgR=A 128 4,200
Hests(MEsIAMGL)(2#EE 300,600 0 300,600
LHEAHHXI = 300,600 0 300,600
= XEI=s =4 300,600 0 300,600
UVAPIERS 1= 300,600 0 300,600
O1JIsSdES 300,600 0 300,600
OF8X&I= 300,600,000& * 14| 300,600
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